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SBU 2020 Lesson 23 (quiz)    

 

 
1) 

 
 A963 

 10 

 A74 

 KQJ75 

N 

W    E 

S 

 8 

 Q974 

 832 

 A10963 

 West plays in 3. 

 North leads Q 

 
 

a) How many losers can you count?    ______________ 

b) Any reason not to draw trump?    ______________ 

c) Which suit will you play first?    ______________ 

d) How many tricks do you expect to make?   ______________ 

 

 

 

 

 
2) 

 
 QJ 

 KQJ6 

 J1054 

 AK5 

N 

W    E 

S 

 43 

 A1093 

 AQ82 

 J92 

 West plays in 4 

 North leads A, then K 

 Next he plays 7 

 
 

a) How many losers can you count?    ______________ 

b) Any reason not to draw trump?    ______________ 

c) Which suit will you play first?    ______________ 

d) Which is the Work Suit?     ______________ 

e) How many tricks do you expect to make?   ______________ 

 

 

 
 

3) 

 
 A5 

 3 

 KQJ105432 

 95  

N 

W    E 

S 

 KQ2 

 J109875 

 6 

 A76 

 West plays in 5 

 North leads Q 

 

 
 

a) How many losers can you count?    ______________ 

b) Any reason not to draw trump?    ______________ 

c) Which suit will you play first?    ______________ 

d) How many tricks do you expect to make?   ______________ 


